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1. A RS 2R A o] A+ 415,780| 453,804 -38,024
1. S S AAY T 415,780| 453,804, -38,024
1. SR S-S A Y= 415,780| 453,804 -38,024
1.3 g FuAd= 259,776| 288,094 -28,318| P u]MYH 1 259,776,000 * 13 = 259,776,000
2. 52N A L5 133,771 134,710 -939 | F-AFFAH X 41 ¢ 133,771,0009 + 131 = 133,771,000
3ERRELINANAT 22,233 31,000 -8,767 | =T EE A 1] 1 22,233,000 * 13 22,233,000
2. 3454 141,468 144,307|  -2,839
L3RRl 139,768 142,707 -2,939
Lo At a9 139,768 142,707 -2,939
1,529 30,578 32,126/  -1,548
1,949 30,578| 32,126  -1,548| WA LFAH] : 4,050 %23 x1877= 17,420,000
SHE ¢ 4309170 %180 = 13,158,000
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1.8 753k w g5 H) 91,200 86,400 4,800 | 23 (vlo] &7) : 600,000 +12€= 7,200,000
WS (FH O HE) ¢ 950,000 +12¢€= 11,400,000
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W (o) 1 950,000 x12Y= 11,400,000
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Wk (3hAF) 1 950,000 x12€= 11,400,000
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W3 (A =TE) 600,000 %129 = 7,200,000
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1.8 A k5| 14,350 21,233|  -6,883|13}7] &shH] 1 550,000 %138}« 13]= 7,150,000
28t7] #AsLH] 0 600,000 #1238 53+13]= 7,200,000
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101249 1,500 1,500 0
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